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l) To pfirN rtx\w clyq 16r cm . Na ppe\dtv : (a)

Xtovos : 431

ro c4pa66 dtAov , (f) Ea .

(r. 3)

2\Ero 6s)ov6 cxilpa cbat, i = 300 , Bt = 2a.

To ro(o AA y&'pqre pe rivtpo toB ra arrLva AB.

Na ppc|ci ro eyPati6 rov lpoypooruotfvw lpow-

3) Ec lyttcpap*pua pc Sapcr2o l'B = 28pcpovpe 14 xop&( Af

rot cTlclpaglvov rwoycri c(alivou rat rov cTlclpapfvov

Na ppc|ci ro cpfalii' roo prtolpolgov r2r,1ivoo Al A,.

xaot A-A iocc pc n1 r\cvp&

r cr p clivou qyf'atroaxa .

(P.5)

4) ALvcrat op1olJtno rot ooarc)is rpjuvo ABI ( A = g0o ) Mc t&pcrpo r1y vrtr(iyovoa

Bl =2a y&CoWc rTprcpul*pclc ifu ar6 ro rfy*o rot pc rivrpo qv xoprryil A ran arrh,o

ia1 pc qv rl crpd AB 1p&,povpc ai6o fi. No vro\oltocrc ro ctga&� rolu ptlti,arw rov

oxrlpoti(crat.

(r.5)

.3)2to nipa Evcrat o rvr\*i4

rofia< KLB pc 1,ni,af{=fi tcr,.

axrlvo 6a , rot ro q1urir"r'\o rivrpov

O rov ap&ncrat 16 KB ato eqpcio | .

Na fgee<fiv: (a) q ardla roo ryuvr\iou ,(f) ro c$a66 rw lpappocuaapivov pipo.ur.

(F.3)


